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B] i3 3m] ;28 AT 301 360 397 757
AER1TH 1,039 1,166 1,273 2,439
mAET2TH 1,204 1,039 1,394 2,433
A R T 2,301 2,340 2577 4917
BEBRT1TH 558 561 605 1,166
B ERT2TH 410 418 455 873
B ERI3TH 311 357 324 681
B ERTATH 532 485 532 1,017
B ERSTH 824 894 904 1,798
I ER6TH 369 396 420 816
HiF = HT 549 591 642 1,233
45 KHT 474 539 571 1,110
HHT 1,011 1,114 1,231 2,345
BEHT 53 54 58 112
A K BT 629 718 738 1,456
7 HT 431 438 457 895
RICET 461 492 522 1,014
FORHET 203 196 228 424
RFHT 211 212 242 454
KHET 368 344 382 726
KET1TH 240 246 289 535
XKET3TH 290 342 331 673
XETATH 880 818 1,010 1,828
fit] LLI BT 2,436 2,793 2,902 5,695
JE LT 974 1,101 1,213 2314
EHERT2TH 303 441 434 875
EHERISTH 432 531 540 1,071
EHERT4TH 395 462 491 953
EHERSTH 342 397 469 866
EHERT6TH 214 289 271 560
EHERT7TH 169 253 261 514
=Y:i 331 329 384 713
8 [F T 1,545 1,401 1,651 3,052
=i ET 514 552 632 1,184
2l 3t BT 480 583 563 1,146
N =15 100 113 121 234
+HEFRT A 642 650 718 1,368
L EFHTER 855 755 863 1,618
L HAET 1,985 2,187 2,256 4443
LFH¥ABT1TH 72 121 117 238
LH¥\ET2TH 162 160 180 340




BT 4 HH 5 £ i
LFEI3TH 151 148 177 325
L¥AET4 T B 168 183 209 392
LFEISTH 214 268 294 562
I == HT 205 213 236 449
JOSFET1TH 564 535 549 1,084
JNsFET2T H 540 522 566 1,088
JO=fET3TH 414 433 410 843
M=rET4T H 1,105 1,110 1,122 2,232
I S5k T 584 602 657 1,259
I=F5di) 228 212 258 470
At B BT 29 37 38 75
E[d:) 409 360 346 706
fHZaE T 823 947 995 1,942
FHRHET 79 84 95 179
1 2 FF T 323 370 393 763
BEFE1TH 94 121 130 251
BEFE2TH 282 325 334 659
T EHT 131 143 141 284
/N BB T 3,105 3,127 3,313 6,440
1R T 264 294 310 604
YEZF HT 755 742 799 1,541
EXBI1TH 281 259 283 542
=/ LLIHT 219 162 127 289
Hh ek HT 24 25 4 29
T A EHET 11 16 12 28
THHEE1TH 735 678 723 1,401
THHEE2TH 524 563 550 1,113
THHEESTH 831 848 971 1,819
TEHE1TH 181 180 176 356
TEHRI2TH 802 747 863 1,610
TEHRISTH 163 167 184 351
TEHRI4ATH 93 102 112 214
TEHRISTH 218 236 242 478
T HAET 579 609 649 1,258
TET1TH 359 350 374 724
THET2 T H 458 430 486 916
TH¥BISTH 204 201 230 431
THABTATH 151 151 181 332
TH¥BISTH 148 171 187 358
HTAEHET 18 16 8 24
T 189 198 191 389
#8)11 BT 46 47 53 100
KT HT 300 319 346 665
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7B KHT 1,677 1,682 1,849 3,531
FSIED 267 317 317 634
XLAT1TH 850 761 917 1,678
X#ILET2TH 317 344 369 713
X#ILET3TH 152 158 169 327
1 [ BT 47 64 76 140
hHET1TH 370 396 412 808
hHET2TH 456 475 519 994
b HET3TH 458 527 526 1,053
aiEld:) 249 239 283 522
th 2 JEHT 217 209 230 439
ch T 128 125 161 286
TR AHT 774 880 884 1,764
At FAET 889 886 1,027 1,913
75 K ERET 783 966 1,000 1,966
75 2 [N HET 1,660 1,825 1,958 3,783
JAHT 793 771 863 1,634
$FHET1TH 523 458 519 977
$FHET2T H 398 395 444 839
¥FHETST B 198 201 227 428
T 164 213 215 428
HET1 T B 385 480 510 990
HET2 T B 351 365 403 768
HET3 T B 358 397 443 840
HET4 T B 124 121 148 269
AN ) 082 1,067 1,118 2,185
J\ EHHT 159 199 199 398
+ A ERT 248 284 317 601
T A HT 1,836 1,881 2,038 3,919
THB1TH 23 20 20 40
T4HB2TH 1,460 1,361 1,364 2,725
T4HBI3TH 187 168 165 333
T4RBI4TH 374 312 374 686
T4RB5TH 939 662 942 1,604
T4HBI6TH 605 583 649 1,232
THRI7TH 344 372 408 780
T4HBISTH 378 403 417 820
THRBOTH 409 465 517 982
+4RB13TH 314 353 391 744
AR NBHT 1,945 1,702 1,971 3,673
HARRHET 1,371 1,247 1,228 2,475
HARRK/ERET 292 373 381 754
F AR JEHT 169 175 180 355
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HEZ HH 5 = 5
- WNEL] 137 122 137 259
FH AR hHT 197 219 257 476
FHARAKHET 444 470 504 974
& ARl 324 346 383 729
HARE)IIHT 295 273 302 575
=N ] 111 120 131 251
FH AR JTHT 106 99 115 214
EARERHE 662 569 664 1,233
B K BRHET 385 390 401 791
Edsa] 884 895 1,020 1,915
BEFET1TH 774 738 764 1,502
BEFET2 T H 592 589 678 1,267
BEFEISTH 353 419 420 839
AFTET1TH 421 378 424 802
AIFFRT2T B 597 604 671 1,275
AIFTET3T B 613 696 759 1,455
A HT 186 204 193 397
B LH 233 304 326 630
NER) 796 776 843 1,619
ERL 755 926 925 1,851
= HHT 1,729 1,921 1,995 3,916
HEXHRET1TH 596 646 684 1,330
HLIRET2TH 518 588 657 1,245
HLAREISTH 296 381 371 752
P fx T 311 357 386 743
mERI1TH 1,162 1,127 1,269 2,396
mERI2TH 828 946 1,046 1,992
FA T 1,349 1,385 1,571 2,956
= RITET 535 503 552 1,055
= AHT 344 276 337 613
AR#4HT 7 5 4 9
=) 497 560 516 1,076
SHET1TH 721 640 802 1,442
S HET2TH 405 444 468 912
aHEI3TH 843 733 892 1,625
S HET4TH 753 634 824 1,458
E& T 1 1 0 1
J\BRET1TH 206 261 262 523
J\BRET2T B 217 221 232 453
J\BRET3T H 241 291 300 591
1T HT 298 431 412 843
FHeEIBRT1 T H 167 199 212 411
FHREIBRT2TH 301 434 463 897
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FIEIBISTH 108 178 173 351
FEOER1TH 55 87 80 167
FEOER2TH 0 0 0 0
FENOERITH 18 16 2 18

Y =X11 88,595 91,773 99547 | 191,320
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